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Lecture Exam #1

Practice Questions

1. The endocrine system 
A. releases neurotransmitters into ducts.
B. secretes chemicals that reach their targets through the bloodstream.
C. contains organs called exocrine glands.
D. is isolated from the nervous system.

 2. What is it about a cell that identifies it as a target cell for a hormone? 
A. the presence of a receptor specific for that hormone
B. its location near the gland that secretes that hormone
C. the ability of the target cell to perform a specific function
D. its ability to inactivate the hormone
E. the size of the target cell

3. What do all hormones have in common? 
A. They are made from amino acids.
B. They are bound to transport molecules in the blood.
C. They bind to and interact with a receptor in the target cell.
D. They use the second messenger mechanism to control the target cell.
E. They are all lipid-soluble.
4. ADH secretion will increase when 
A. blood osmolality increases.
B. blood pressure increases.
C. blood volume increases.
D. blood pH increases.
E. blood osmolality decreases. 

5. Removal of the anterior pituitary would affect the functioning of the 
A. thyroid gland.
B. pancreas isles of Langerhans in the pancreas.
C. parathyroid gland.
D. adrenal medulla.
E. kidney.
6. Which of the following events occurs last? 
A. Enzymes break down thyroglobulin to release T3 and T4.
B. T3 and T4 are stored within thyroid follicles.
C. Iodine is bound to tyrosine molecules of thyroglobulin.
D. Thyroglobulin is taken into thyroid cells by endocytosis.
E. Iodide is actively transported into thyroid follicle cells.
7. Plasma 
A. is one of the formed elements.
B. is the liquid matrix of the blood.
C. transports waste products but not nutrients.
D. accounts for less than half of the blood volume.
E. is serum plus formed elements.
8. Which of the following is (are) associated with decreased hematopoiesis? 
A. hemorrhage
B. vitamin B12 deficiency
C. iron deficiency anemia
D. restricted blood flow to the kidney
E. both vitamin B12 deficiency and iron deficiency anemia
9. When defective erythrocytes are broken down, 
A. they are removed from the blood by the lungs.
B. bilirubin is formed from the breakdown of hemoglobin.
C. their heme groups are converted into amino acids.
D. their iron is excreted into the small intestine.
E. their components cannot be recycled.
10. All cardiac veins empty into the _________, which then empties into the _______. 
A. coronary sinus; left atrium
B. coronary sinus; right atrium
C. great cardiac vein; right atrium
D. great cardiac vein; superior vena cava
E. inferior vena cava; left atrium
11. Which of the following sequences is correct? 
A. AV node, AV bundle, SA node, Purkinje fibers, bundle branches
B. Purkinje fibers, bundle branches, AV node, AV bundle, SA node
C. SA node, AV node, AV bundle, bundle branches, Purkinje fibers
D. SA node, AV bundle, AV node, bundle branches, Purkinje fibers
E. AV node, SA node, bundle branches, AV bundle, Purkinje fibers
12. Depolarization of a cardiac muscle cell occurs as the result of 
A. a decrease in the permeability of the cell membrane to sodium.
B. the opening of voltage-gated sodium channels.
C. the closure of voltage-gated calcium channels.
D. the opening of voltage-gated potassium channels.
E. the closure of the voltage-gated sodium channels.
13. Which of the following organs would be most likely to contain fenestrated capillaries? 
A. spleen
B. kidney
C. bone marrow
D. muscle
E. pancreas
14. Precapillary sphincters 
A. serve as valves in veins.
B. are found in the tunica media.
C. carry blood under high pressure.
D. control the blood flow into capillary beds.
E. are voluntary structures.
15. Which of the following would increase resistance to blood flow? 
A. a decrease in the length of the vessel
B. a decrease in the number of red blood cells
C. a decrease in blood viscosity
D. a decrease in the radius of the vessel
E. a decreased hematocrit
Answers:
1.  B

2.  A

3.  C
4.  A

5.  A

6.   A
7.  B

8.  E

9.  B

10.  B

11.  C

12.  B

13.  B

14.  D

15.  D
